CPO
ONLINE QUIZ – IS THE CPO PROGRAM RIGHT FOR YOU?

1. The most intangible valuation of an asset would be referred to as: (1)
a. Protective efforts
b. Intangible property
c. Reputational damage
d. All of the above

CORRECT ANSWER is C

2. The Private Security Company standard (PSC) is an excellent guide to: (9)
a.	A general framework, central to all phases and levels of the core protection officer functions
b.  Preventative and reconstructive investigations
c. 	The implementation of Security Operations
d.	Resilience and business continuity efforts

CORRECT ANSWER is C

3. ASIS International found that there are how many areas that need security industry professionals in order to be successful: (42)
a. 30
b. 10
c. 45
d. 22

CORRECT ANSWER is D

4. One of the standards by which an officer’s use of force is judged is: (49)
a. Kane v. Wilder, 300 U.S. 210 (1966)
b. Graham v. Connor, 490 U.S. 386 (1989)
c. Thompson v. Hubbard, 410 U.S. 386 (1999)
d. Terry v. Ohio, 200 U.S. 400 (1985)

CORRECT ANSWER is B

5. [bookmark: OLE_LINK17][bookmark: OLE_LINK18]What are the keys to avoiding criminal and civil liability? (59)
a. Conduct yourself in a reasonable manner
b. Know your responsibilities and limitations
c. Get familiar with the laws and regulations in your area
d. Get a degree in criminal justice

CORRECT ANSWER is D

6. Type C fires are initiated by: (66)
a. Magnesium
b. Solid combustible material
c. Energized electrical involvement
d. Oil and grease

CORRECT ANSWER is C

7. What should be avoided at all costs to maintain the integrity of access control work? (72)
a. Overtime / extended hours
b. Non-security work
c. Swing shifts
d. Single security patrols

CORRECT ANSWER is B

8. What type of detector can detect explosives? (78)
a. Drones
b. Chemiluminescence
c. EAS
d. SDS

CORRECT ANSWER is B

9. What is the reason for the possible use of a separate red phone in a security center? (83)
a. A regular 10-button phone may not operate in a dead zone
b. To avoid having to put the emergency caller on hold while calling public assistance
c. Red phones work by VHF signals
d. The ground-wave propagation causes static on a regular phone

CORRECT ANSWER is B

10. Evidence that is directly involved in the incident known as real evidence can also be described as: (88)
a. Boundary evidence
b. Physical evidence
c. Perimeter evidence
d. Relevant evidence

CORRECT ANSWER is B

11. To preserve the deterrence factor of surveillance systems in industrial locations and employee-only areas of other types of businesses, the cameras should be placed where? (95)
a. Near the floor facing upward
b. Hidden in an item located on a desk facing the entry door
c. Over the front door
d. In plain view making it obvious that video surveillance is in use

CORRECT ANSWER is D

12. One critical starting point in the discussion of investigation skills is: (111)
a. To determine what must change in the situation
b. Focus on the facts
c. For the security professional to recognize the limitation of their authority
d. To ensure that the investigation is conducted confidentially

CORRECT ANSWER is C
 
13. The definition of a social cause for crowd formation is: (124)
a. A gathering at a shopping center
b. A labor disagreement
c. A common political cause
d. Crowd formations due to racial or religious differences

CORRECT ANSWER is D

14. Safety provided by encryption is called: (136)
a. Operational Technology Protection (OTP)
b. Occupational Trade Pact (OTP)
c. One-Time Pad (OTP)
d. All of the above

CORRECT ANSWER is C

15. Which is not a common component of a Risk Program? (157)
a. Risk Analysis
b. Risk Impact
c. Risk mitigation
d. Risk Reporting

CORRECT ANSWER is B

16. What is the standard that was developed by the National Fire Protection Association? (163)
a. NFPA/FEMA Planning Standard
b. NIMS Standard 2100
c. NFPA 1600
d. EOP 1996 Standard

CORRECT ANSWER is C

17. What is one critical component when developing a positive security culture? (173)
a. A Partnership with other security related organizations using the reactive approach
b. Using metrics to measure the effectiveness of employee Security Awareness Training
c. Having a Safety and Security Committee
d. Having a blueprint of effective security measures

CORRECT ANSWER is C

18. Which of the four answers below is NOT an efficient protective measure, that is minimally reliant on resources, and disproportionally tilt the mission in your favor: (195)
a. Communication
b. Movement
c. Concealment
d. Manpower

CORRECT ANSWER is C

19. (ACFE) is the acronym for which Security Professional Group? (212)
a. Association of Certified Front-Line Enforcers
b. Association of Certified Fraud Examiners
c. Association of Crime, Fraud and Emergencies
d. Association of Customs Facilitation Entities

CORRECT ANSWER is B

20. What is the STAR concept? (218)
a. Stop, Talk, Assign, Revise
b. Seek, Think, Action, Readiness
c. Sort, Test, Ask, Relay
d. Stop, Think, Act, Review

CORRECT ANSWER is D

